Natne KEY

Test Review (Special Segments and Special Right Triangles)
Show work to receive credit!  Period

1) In a 45°-45°-90° triangle, the hypotenuse is ‘\Fz-- times as 01% as a leg.

2) In a 30°-60°-90° triangle, the hypotenuse is +"M (_.Q . aslong as the shorteg IegSﬁ
and the longer leg is N 3  timesas longasthe shortcr Lép ﬁ& By

M

s

3) The drawing shows part of the plan for a new undergroﬁ?zl lawwsﬁh%&ér system.

Plaﬂ f@r Sprink er System

. F’iagﬁa& pipe

Which is closest to the length of the section of plastic pipe from point 4 to point C?

4.7 ft
@® 57
C 671t
D 77ft

| 4) A fence around 5"§§uare garden has.%k%)‘.erimetcr of 48 feet. Find the approximéte
length of the diagonal of this square garden. :

Draw and label your picture.
F 12t L i -
G 17 ft
H 21 ft . S ~
J 24 ft
5y AWXY is gyjght trla“f%gle.
Find the length of WY .

20mm &7 | /W
20¥3 mm A

60 mm

40‘[3— mm

(t::;nw
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6) In the figure shown below, A MPQ ~ A PRQ,
MR =45 units, and RQ = 15 units. What is the length of PR?

3
7) In A}DKN PN 14 inches, m &N = 30°, and m £ K = 90°, Which is closest to the
perimeter of & PKN?

Draw and label your picture.

31 in.
28 n Purdenehtn = 7 Ao “7'@

8) Grain elevators are conveyor belts used throughout the Midwest to take produce, like
: wheat, to the top of a silo for storage. How long would the belt of a grain elevator need to
“ be if the bottom is 50 feet from the base of a silo that is 50 feet high? Give the exact
: answer (simplest radical form) and round your answer to the nearest tenth.

42 in.

é 33 in.
H
J

Draw and Ia’}%el your picture.

s =51
P72 =100

: 9.) The length of the hypotenuse of a right isosceles triangle is 6/ 3 . What is the
: perimeter of the triangle? Give the exact answer (simplest radical form)

Draw and label your picture.

10.) Find the value of y. .
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11) In AABC, AD 1 ECand AE bisects /BAC, mZ B =66, and m £C=36. Find
m< DAE.

© Measure of angle DAE = )6

12)) In APQR, PQ = PR ,and PS bisects £ QPR and S lies on CR . Which
statement(s) must be true?
@ PSisa perpendicular bisector of Q‘E

B> PS is pcrpendlcular to QR but not a blsector of QR
&> B is a bisector of OR but not perpendicular to QR
B> F§; is neither a bisector of OR nor perpendicular to oR .

13.) ACPR has vc;rtices C(15, 1), P(9, 11), and R(2, 1). Determine the coordinates of

point 4 on CPsothat RA is the median of ACPR. P :
PL, ) sy - R ,
AL, (o ) M/ "'15 \ \\ - /- '
5 N s
\ §

What is the slope of RA? "o * (’1 - (K' ) 5 / \\ ‘

\j b)‘ / e : 173 / \
What is the equation of RA? W ~ -L=7 X"" “—) - - \i <

ot ARERREE RN ALK
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15.) The distance from Missouri City to Baytown is approximately 24 miles. What is the

approximate distance from (A.) Humble to Pearland (B.) Missouri City to Pearland
(C.) Baytown to Humble?

a 3 ‘- Pearlangif:r %/IiS_SOHEi City 24
S l ....4.-.&. e L e e

b. %3
C . UL '

Baytown

24 = $§%
NG B
M B
H’i‘.} N3 7
umble
16.) Find the perimeter of hexagon RSTUVW, ‘ 82 3!{% : 5
SJ T
\2 l':, 6
| ' ' RE30 o ¥z -
Perimeter = 3"* + ("\/;g +8ﬁ bﬁ w ) 5°
9 %
; v

17.) Triansle A BC Is shown below,

Approximately how much Tonger is AC
than AR? ?

18.) The diameter of the circle is 12, Find QS.

os=_ LA




